What are some of the sentences I need to know for the AP Stats Test…

Regression Analysis: Brain Activity versus Distress

Predictor

Coef

StDev


  T

   P

Constant

-.012608
0.02465

-5.12

0.000

distress

0.060782
0.009979

6.09

0.000

s = 0.02509

R-Sq = 77.1%

R-Sq(adj) = 75.1%

	If they ask…
	The value you need…
	The sentence you need…



	Interpret the slope
	b = 0.0607
	When the distress (x-variable) increases by 1, the brain activity (y-variable) increases by ABOUT 0.06

	Interpret the y-intercept
	a = -.012608
	

	Interpret the correlation coefficient
	r = 
[image: image1.wmf]=

771

.

.878*
*positive or negative depends on the sign of the slope
	Since .878 is so close to 1, there is a pretty strong, positive, linear relationship between brain activity and distress

	Interpret the coefficient of determination
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r

= .771
	About 77.1% of the variation in brain activity can be explained by the LSRL of brain activity on distress

	Interpret “s”
	s =.02509
	s = the standard deviation of the residuals.  On average the data points lie about .02509 units from the LSRL

	What is the LSRL?
	a and b from above
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	If they ask…
	The value you need…
	The sentence you need…



	Interpret the confidence level
	What % confident you are
	If ALL samples of size (n) are taken from this population and 95% confidence intervals are created for each sample, 95% of the intervals will contain the true __________  (mean, proportion, difference in means, difference in proportion, slope)

	Interpret what is meant by “95% confident”
	Same as above
	Same as above

	Interpret the confidence interval
	The interval itself.
Ex. (.54, .68)
	We are ___% confident that the true ______(mean, proportion, difference in means, difference in proportion, slope) (in context) is between .54 and .68

	Interpret the P-value
	The P-value
Ex. 0.0645
	If Ho were true, we would get results like ours or more extreme only 6.45% of the time

	What conclusion can be made based on the P-value…
	The P-value
Ex. 0.023
	Since the P-value is so low, or lower than a stated
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, we have strong evidence to reject Ho.  There is evidence that…CONTEXT

	
	
	


	If they ask…
	The value you need…
	The sentence you need…



	Describe the graph
	May not need any.  May use any of the descriptive stats found in 1-var-stats on the calc
	Address the following:
Center (mean, median, rough estimate from graph)

Spread (variability, range, IQR, standard deviation)

Shape (symmetric, skewed, clusters, gaps, approximately normal- CANNOT say with boxplots!)

Outliers (are there any?)

	Compare the two graphs
	See above
	Do all of the above with –ER words…
Ex. “The mean of the girl graph is highER than the mean of the boy graph”

	Interpret the standard deviation
	Standard deviation that is given or find Sx on calc
Ex. 2.56
	On average, a data value is about 2.56 away from the mean

	Interpret the z-score
	Z = 2.56
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	This data point is 2.56 standard deviations ABOVE the mean. (If negative, use BELOW instead)


	If they ask…
	The value you need…
	The sentence you need…



	Is it an experiment or observational study?
	None
	It is an experiment because there are treatment imposed (name the treatments)
It is an observational study because there are no treatments imposed

	Can the experiment be double blind?
	None
	Yes it is double blind because he person administering the treatments and the person receiving the treatments do NOT need to know what treatment they are giving/receiving.


	If they ask…
	The value you need…
	The sentence you need…



	Are the two events independent?
	
	Yes the events are independent because 
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(Show with numbers)
or

Yes the events are independent because 
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	Are the two events disjoint?
	
	Yes the events are disjoint (or mutually exclusive) because 
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, or A and B cannot occur at the same time.

	Provide statistical evidence…
	DO A HYPOTHESIS TEST
	

	Perform a test to see if there is a difference in….
	
	Check to see if the data are PAIRED by anything.  If they are, subtract the data and do a 1-sample t-test on the differences.  If not, do a 2-sample t-test
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